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Note : Attempt questions from all sectiohs as

per instructions.
Section-A
(Very Short Answer Questions)

Note : Attempt all the five questions of this sec-
tion. Each question carries 3 marks. Very

short answer is required. 3x5=15

P.T.0.

13

P




Explaiy Blagonal matrix ang

Identify mat Section-B

Wl”'ll nki"”p;ﬂ_,_ F
(Short Answer Questions)

2.

Find the/minors and cofa Note : This section contains three questions,

Ctors of th
Ing matrix - ollo attempt any two guestions. Each ques-
tion carries 7%z marks, Short answer is

req-uiréd. TYax2=15

6. If y=x3-x*-16x+16, then find the maxima

3. The ratio and minima of the function y.
of two numbers in phe | <
IS 11:9. If the S owest form 7. Explain simple interest and compound inter-
the numpers. UMBerS is 40, Fing! est. Find the rate of interest of a sum that
becomes triple of itself in 12 years on simple
4 r :
If Py= EDx"py i interest.
a. Define rank of a matrix. Find the rank of
5
Integrate jET_;“ir“—“ o ( e
tax? matrix A=|3 1 2
sl
18037/2
18037/3 P.T.O.



Note :

(b)

18037/4

Section-C

(Detailed Answer Questions)

This section contains five questions. at-
tempt any three questions. Each ques-

tion carries 15 marks. Answer is required

in detail. 15x3=45
Using matrix method, solve the follow-
ing system of linear equation : 72
6x+7y+2=0
4x+3y+6=0
Find the Inverse of the matrix: 7
Eini@nis
Rt e e L |
wr1 EEE (R

(b)

1803715

|0, Solve the following equations by Gauss elimi-

nation method:

x + 3y+6z=2
Ix-y+4z=9

x - 4y+2z=7

11. (a) A candidate secures 259% in an exami-

nation but fails by 30 marks. While the
other candidate who secures 50 marks
get 50 marks more than the minimum
passing marks. Find the minimum pass-

ing percentage.

The 5" term of Arithmetic series is 21
and 11th term of Arithmetic series is
39, then find first term, common differ-

ence, and sum of 55" terms of series.

P.T.O.



12. (a)

(b)

13

18037/6

IfA = {1'1 2! 34- 4}: 55{2,3,4,5} and
c= {3,4,5,6}

then prove that

An(BNC) = (AnB)nC
and Au(BuC) = (AuB)UC
Find n, if
(1} e, = e,

24c

ii 24 i
("} Cn+5 TR 3n=1

(= ?e it =912
?_1—4
BESY R Nk then find

g at x=4

(b) Prove that

1803717

J-I:JZ

0

Jsin x dx:E

Jsin x +fcos x 4




13,

(a)

(b)

(c)

(4)

85 kg. of a mixture contains milk and water in
the ratio of 27:7. How much more water is to be
added to get a new mixture containing milk and

&

waterintheratioof3:17

At what rate percent per annum will be Rs. 1,200
amount to Rs. 1,350 in 3 ye.ars. interest being
calculated yearly ?

The population of a town is 1,80,000. If it
increases (@ 6% per annum, what will be its

population after two years ?
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Note: Attempt questions from all Sections as per
instructions.

Section-A
(Very Short Answer Questions) .
Attempt all the five questions. Each question carries
3 marks. Very short answeris required. 3Ix5=15
Li Explain square matrix.

2, What is diagonal matrix ?

3. Explain inverse of matrix.

4, Find the simple interest on Rs. 8,000 for 6 years at an
annual rate of 5%.

5. Findthevalueof " Cyy.




(2)

n -B
(Short Answer Questions)
stions out of the following three

Atlempt iy rvo gue ,
questions. Eackl question carries 7% marks. Short

. Wnewer is requ MhxD=15
0, Find the rank
V4 3 i3
A 4= i
i &

(Rl Jﬂ‘{;‘ cricket club has 18 members among whom are

‘g 1 wicket-keeper, 5 are bowlers and rest are batsman.

In how many ways can a team of 14 players be

selected out of them so that it may have 1 wicket-
keeper and at least three bowlers ?

8. Integrate :

I
logx (logx)

Section-C
(Detailed Answer Questions)
Attempt any three questions out of the following five
questions. Each question carries 15 marks. Answer is

required in detail. 15%3=45

18037

e

1.

18037

(3,

If _}f=.t] —x"~16x+16, then find the maxima and minima

ofthe function y.

I 2 il 1 it
= 5 = C: F
If A [3 4}3 [4 5:|m1d [2 2]

that A(B+C)=AB+AC.

prove

(@) IfA={1,2,3,4},B={2,3,4,5} and C={3,4,5,6},

then prove that :
AN(BAC) = (ANB)C
and AU(BUC)=(AUBYC.
(b) I y= 9:_-4_1 then find b atx=4.
2x dx

{a) A person decides to save Rs. 400 in January,
Rs. 800 in February, Rs. 1,600 in March,
Rs.3,200 in April up to the end of the year. What
willbe his total savings during whole year ?

(b) [f7thtermofaH.P.is 1/10and 12th termis 1/25,
find the 20th term.




(4)

11.  Write short notes on any two of the following : 7% 2
(1) Multiplication law of matrices
(i) Union of sets :

(i11) Integration by substitution,

12.  (a) A trains runs 25 miles at a speed of 30 mph
another 50 miles at a speed of 40 mph. Then
due to repairs of the track travel for 6 minutes
at a speed 10 mph and finally covers the
remaining distance of 24 miles at a speed of
24 mph. What is the average speed in miles
per hour ? T2

(b) Calculate the average from the following
table by shortcut method taking deviation
from9 : %

13. IfA:[; ﬂ find A and A", 15
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Note : Attempt questions from all Sections as per

instructions. \

Section-A
(Very Short Answer Questions)
Attempt all the five questions. Each question
carries 3 marks. Very short answer is required.
3Ix5=15
1. Find triplicate ratio of 3 ; 4. 3

2. If 19% population of a town is 399, find the total
population. 3

95



3, Find the amount of T 1,000 @ 4% per annum

compound interest for 3 years. 3
4. Differentiate & 3
L Find the value of : 3

(i) 12%of75
(i) 33% of 240 litres
(i) 5% of4.45 meter.

Section-B

(Short Answer Questions)
Attempt any fwo questions out of the following
three questions. Each question carries 7)4 marks.
Tax2=15
6. In how many ways can the letters of the word

*ASSASSINATION' be arranged so that all the S’s
T

Short answer is required.

are together ?

i The salary of Gaurav in first year is T600 per
month. He gets an increment of 20 per month.

Find his total earning during 6 years service. 7}

18037
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8.

10.

18037

(3)
Find the average marks: 7' ‘
Marks Students |
more than 10 40 !
more than 20 31 i |
more than 30 15
- more than 40
more than 50
; Section-C

(Detailed Answer Questions)
Attempt any three questions out of the following
five questions. Each question carries 15 marks.
Answer is required in detail. 15%x3=45
Solve by Gauss's elimination method the following : 15

bx+3y+2z=6
bx+4y+3z=0
20x+15y+12z=0.
(a) Solve: T
T R |
a b cl|=(a-b)(b-c)(c—a)
2 bZ cl

(b) Find out maxima and minima of sin x + cos x,

where x lies between 2 and 2 7. T

9



A . ¥ .
1L IFC = x3 = 242 & dx 4 15, find average cost and

marginal cost,

L2, {(a)

(b)

13. (a)

(b)

Show that the sequence :

7 10

i5 a H.P. Also finds its 10th term.
Find the 9th term and the general term of the
sl

wion — — =1 =2
progression 7~

=

L}

If the population of a town is 18,000 in

beginning of the year 1996, find what will

be population at the end of 1999 at the rate
of increase of 6% p.a. ?

A shopkeeper borrowed some money from a
nationalised bank under SSI scheme to
expand his business at the rate of 10.5% p.a.,
S.I after 3 years he paid back T 9,862. So to
the bank and settled his account. What some

did he borrow from the bank ?

ND-176 (4)
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‘Note :— Attempt questions from all Sections as per

instructions. x
Section—-A
(Very Short Answer Type Questions) 3x5=15

Nete :— Attempt all the five questions. Each question carries
3 marks. Very short answer is required.

1. Find Duplicate Ratio of 8 : 15, :
2. If 32 is added to the 80% of a number, the result

is the number itself find the number.

ND-176 (1) b




3. The following table given the marks obtained by
10 students of B.B.A. II in Business Mathematics :

"S{:rial No.

1

2

2

4

5.

7

8

9

10

Marks

88

42

6

74 |31

98

80

16

32

33

4. Find the simple interest on ¥ 25,000 for 146 days

at the rate of 6% per annum.

5. Differentiate log x2.

Note — Attempt any two questions out of the following

Section;ﬂ

(Short Answer Type Questions)

Tyax2=15

three questions. Each question carries 7% marks.
Short answer is required not exceeding 200 words.
6. Find AB if :

S

7. Calculate the arithmetic mean (average) of 54, 61,
93, 104, 75 and 99 by the routine method.

1

3

|
B=
o]

3

-2

-4
5
2

8. Find the number of permutations of word
"ACCOUNTS’.

ND-176

(2)

Section—C
(Long Answer Type Questions)  15x3=45
Note :— Attempt any three questions out of the following
five questions. Each question carries 15 marks.
Answer is required in detail.
9. Write short notes on any twe of the following :
(i)  Multiplication law of matrices
{(ii) * Union of sets
(iii) Integration by substitution

'(iv} Gaussian elimination method

10.(a) AU B=A B ifand only if A =B prove
g :
(b) Out of 1000 students who appeared for an

examination, 750 failed in maths, 600 failed
in accounts and 600 failed in costing, 450
failed in both maths and accounts, 400 failed
in both maths and costing. The students who

failed in all the three subjects were 75. Prove

that the above data is not correct.

ND-176 (3) Turn Over
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